
Intro to Statistics               

Foundational Mathematics - Assignment #2 

Multiply. 

1. 4      8− × −  2. 5    9× −   3. 4      4− × −  

 

 

4. ( 3)(11)−  5. ( 9)( 1)− −   6. ( 7)( 4)( 2)− − −  

 
 

Divide. 

7. 
4

20

−

 
  8. 

27

9−

  9. 
24

36

−

−

 

 

 

 

 

10. 30 ( 6)÷ −  11. 9 ( 72)− ÷ −   12. 0 ( 12)÷ −  

 

 

 

 

 

Simplify. 

13. 12 3−  14. 3 12−   15. 5 8− +  

 

 

 

16. 8 5− +  17. 6 4− −   18.14 18−  

 
 

 

 

19. 15 19− −   20. 16 7− +   21. 36 45−  

 

 

 

 

 

 

22. 7 ( 9)+ −  23. 5 ( 7)− + −   24. 4 ( 9)− − −  

 

 

 

 

25. 13 ( 23)+ −  26. 24 ( 17)− −   27. 61 ( 17)− + −  

 

 

 



Write the number in scientific notation. 

28. 600,000                  29. 405,000  30. .0000056  

 

 

 

 

31. .0000301   32. 31,500, 000   33. .0000007  

 

 

 

 

Write the number in standard form. 

34. 
66.1 10×   35. 

43.062 10−

×  36. 
57 10×  

 

 

 

 

37. 
77.45 10−

×   38. 
49.0 10×  39. 

61.2 10−

×  

 

 

 

 

 

40. Write 590,000 in scientific notation.  41. Express 43.01 10−

×

 
in standard notation. 

 

 

 

 

42. Write eight thousand in scientific notation. 43. Write 526 million in scientific notation. 

 

 

 

 

44. The size of an atom of carbon is  45. The mass of the earth is about 126 10×  

      .0000317 millimeters. Express this number                metric tons. Express the number without   

       in scientific notation.                            scientific notation. 

 

 
         

      

    

Answer Key: 

1) 32      2) 45−      3) 16      4) 33−     5 ) 9     6) 56−     7) 
1

5
−     8) 3−     9) 

2

3
    10) 5−  

11) 8     12) 0     13) 9     14) 9−     15) 3     16) 3−     17) 10−     18) 4−     19) 34−   

20) 9−     21) 9−     22) 2−     23) 12−     24) 5     25) 10−    26) 41    27) 78−   

28) 56 10×     29) 54.05 10×     30) 65.6 10−

×     31) 53.01 10−

×    32) 73.15 10×    33) 77 10−

×   

34) 6,100,000     35) .0003062     36) 700,000   37) .000000745    38) 90, 000    39) .0000012   

40) 55.9 10×     41) .000301     42) 38 10×    43) 85.26 10×   44) 53.17 10−

×    45) 6,000,000,000,000  

 


